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Law Of Sines
	Law Of Sines : Case 1 (One Side, Two Angles) : SAA

	1) Given the following triangle, where α = 40°,  β = 60°, and a = 4, solve the triangle (find all the remaining angles & sides)
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(This picture is not specific to this problem – β isn't actually drawn to represent 60°, etc)


	2) Given the following triangle, where α = 30°,  β = 125°, and a = 10, solve the triangle (find all the remaining angles & sides)
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(This picture is not specific to this problem)


	Law Of Sines : Case 1 (One Side, Two Angles) : ASA

	3) Given the following triangle, where α = 35°,  β = 15°, and c = 5, solve the triangle 
(find all the remaining angles & sides)
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(This picture is not specific to this problem)


	4) Given the following triangle, where α = 40°,  β = 45°, and c = 4, solve the triangle 
(find all the remaining angles & sides)
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(This picture is not specific to this problem)


	Law Of Sines : Case 2 (Two Sides, One Angle) : SSA  

	5) Given the following triangle, where α = 40°, a = 3, and  b = 2, solve the triangle 
(find all the remaining angles & sides) (one solution)
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(This picture is not specific to this problem)


	6) Given the following triangle, where α = 40°,  a = 4, and b = 3, solve the triangle 
(Clearly state how many solutions (0, 1, or 2) the triangle has) 
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(This picture is not specific to this problem)


	7) Given the following triangle, where α = 35°,  a = 6, and b = 8, solve the triangle 
(find all the remaining angles & sides) (two solutions)
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(This picture is not specific to this problem)


	8) Given the following triangle, where α = 40°,  a = 4, and b =5, solve the triangle 
(Clearly state how many solutions (0, 1, or 2) the triangle has)
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(This picture is not specific to this problem)


	9) Given the following triangle, where α = 50°,  a = 1, and c = 2, solve the triangle 
(find all the remaining angles & sides) (no solutions)
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(This picture is not specific to this problem)


	10) Given the following triangle, where α = 70°,  a = 3, and b = 7, solve the triangle 
(Clearly state how many solutions (0, 1, or 2) the triangle has)
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(This picture is not specific to this problem)


	11) Given the following triangle, where α = 70°,  a = 3, and b = 7, solve the triangle 
(Clearly state how many solutions (0, 1, or 2) the triangle has)
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(This picture is not specific to this problem)



	Law Of Sines  and a Helpful Hint

	12)

Write out the Law Of Sines here:

For any triangle (whether it's a right triangle or not), what must all of the angles add up to?
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